



Lundgren Management Central Valley Office 1712 19th Street, #210A Bakersfield, California 93301

Phone: (661) 324-4144

Project: 03-118394 - BCSD New ES Increment 2 & 3 (Dr. Martin Luther

King Jr. Elementary School) 1101 E. Belle Terrace Bakersfield, California 93307

Phone: 6612571805

Contractor Change Order #011: Faucet and Bubbler Change per PCO#21.1 & 22.1

CONTRACT COMPANY:	JPI Development Group, Inc. 41205 Golden Gate Circle Murrieta, California 92562	CONTRACT FOR:	BP#17 :BP#17 - Plumbing & Utilities
DATE CREATED:	7/16/2020	CREATED BY:	Marlon Areas (Lundgren Management)
CONTRACT STATUS:	Approved	REVISION:	0
DESIGNATED REVIEWER:	Arek Sliwa (Lundgren Management)	REVIEWED BY:	
DUE DATE:	07/16/2020	REVIEW DATE:	07/16/2020
INVOICED DATE:		PAID DATE:	
SCHEDULE IMPACT:	0 days	EXECUTED:	No
		TOTAL AMOUNT:	\$ 3,067.31

DESCRIPTION:

Bakersfield City School District New Elementary School Increment 2 & 3 Change Order No.11 Narrative

Item 01, PCO#021.1:

Added cost and credit per RFI#213. Delete specified S-1 sink which is no longer available and replace with new S-1 with added faucet, grid drain and bubbler.

Add \$1,118.10

Item 02, PCO#022.1:

Added cost to provide additional Lav-2 lavatories in lieu of Lav-1 lavatories at Building A restrooms.

Add \$1,949.21

Total Added Cost: \$3,067.31

ATTACHMENTS:

JPI Development Group BP#17 - PCO #022.1 - Change Faucets per RFI#209.pdf JPI Development Group BP#17 - PCO #021.1 - Added Faucet per RFI#213.pdf

\$ 1,418,000.00

\$ 1,475,327.52

\$ 1,478,394,83

\$ 57,327.52

\$ 3,067.31



POTENTIAL CHANGE OPDERS IN THIS CHANGE OPDER.

PCO#	Title	Schedule Impact	Amount
021	Added faucet per RFI#213	0 days	\$1,118.10
022	Change Faucets per RFI#209	0 days	\$1,949.21
		Total:	\$3,067.31

The original (Contract Sum) Net change by previously authorized Change Orders The contract sum prior to this Change Order was The contract sum will be increased by this Change Order in the amount of The new contract sum including this Change Order will be The contract time will not be changed by this Change Order by 0 days.

> Integrated Designs 6011 N. Fresno, Suite 130 Fresno, California 93710

Bakersfield, California 93305

Bakersfield City School District

1300 Baker Street

Lundgren Management

Central Valley Office 1712 19th Street, #210A

Bakersfield California 93301

7-30-20

SIGNATURE

SIGNATURE

JPI Development Group, Inc.

41205 Golden Gate Circle

Murrieta California 92562

Printed On: 7/16/2020 09:26 AM



Lundgren Management Central Valley Office 1712 19th Street, #210A Bakersfield, California 93301 Phone: (661) 324-4144 Project: 03-118394 - BCSD New ES Increment 2 & 3 (Dr. Martin Luther

King Jr. Elementary School) 1101 E. Belle Terrace Bakersfield, California 93307

Phone: 6612571805

CONTRACT COMPANY:	JPI Development Group, Inc. 41205 Golden Gate Circle Murrieta, California 92562	CONTRACT FOR:	BP#17 - BP#17 - Plumbing & Utilities
PCO NUMBER/REVISION:	021 / 1	CREATED BY:	Marlon Areas (Lundgren Management)
REQUEST RECEIVED FROM:	Janet Riedesel (JPI Development Group, Inc.)	CREATED DATE:	3/10/2020
STATUS:	Pending - In Review	SUBCONTRACT CHANGE ORDER:	None
REFERENCE:	RFI#213		
FIELD CHANGE:	No	ACCOUNTING METHOD:	Amount Based
LOCATION:		PAID IN FULL:	No
SCHEDULE IMPACT:	0 days	TOTAL AMOUNT:	\$1,118.10

POTENTIAL CHANGE ORDER TITLE: Added faucet per RFI#213

CHANGE REASON: Client Request

POTENTIAL CHANGE ORDER DESCRIPTION: (The Contract Is Changed As Follows)

Added cost and credit per RFI#213. Delete specified S-1 sink which is no longer available and replace with new S-1 with added faucet, grid drain and bubbler.

ATTACHMENTS:

CO#21r1.pdf

Lundgren Management Central Valley Office 1712 19th Street, #210A Bakersfield, California 93301

SIGNATURE DAT

JPI Development Group, Inc. 41205 Golden Gate Circle Murrieta, California, 92562,

SIGNATURE

7.23.20

Printed On: 3/10/2020 03:22 PM



DATE:

12/23/2019 Revised 3/10/20

Arek Sliwa

Lundgren Management

VIA EMAIL

PAGES

2

New E.S. Increment 2 & 3 Dr. Martin Luther King Jr.

Subject:

Additional costs and credits per RFI #213 - Delete specified S-1 (no longer available)

and replace with new S-1 sink, added faucet, grid drain and bubbler.

Dear Mr. Sliwa,

Our quoted price for the referenced change is as follows:

Per Added Cost		\$1,015.63
Overhead & Profit	9%	\$91.41
Sub Total		\$1,107.03
Bond	1.0%	\$11.07
TOTAL CHANGE TO CONT	RACT	\$1,118.10

Schedule Activities Impacted:

Additional time required:

0 Day/Days

This change proposal is based on the ususal cost elements such as labor, material, and markup and does not include any amount for impact such as interfernece, rescheduling, change in the sequence of work, delays and/or associated acceleration. We expressly reserve the right to submit our request for any other items should we be faced with performing work under any of these conditions.

This cost proposal supersedes all previously submitted cost proposal relating to this same work. The work of other trades which may be required to complete this change order is not part of this change order proposal. This quote is valid for 30 calendar days from the above date and void there after. All work affected by either the acceptance or rejection of the enclosed change order quotation is on hold pending notification.

Sincerely,

Janet Riedesel JPI Development Group, Inc.



DEVELOPMENT GROUP, INC

CONTRACTORS LICENSE # 778930 PHONE (951) 973-7680 FAX (951) 973-7690

12/23/2019 Revised 3/10/20

BR	FΑI	ΚD	O١	ΝN	ı

	QUAN					ERIAL	TOTAL	LABOR		PMENT	
DESCRIPTION	HR'S	AMT	U/O/M		UNIT	COST	HOURS	COST	UNIT	COST	TOTAL
					CREDIT						
S-1 SINK PSDKAD2517VRC SINK											
WITH SINK KIT		-2	EA	\$	682.31	-\$1,364.62	2 0	\$0.00	0.00	\$0.00	-\$1,364.6
					ADD						
6-1		2	EA	\$	335.00	\$670.00	0	\$0.00	0.00	\$0.00	\$670.0
CHICAGO FAUCET 350-317 ABCP		2	EA	\$	181.02	\$362.04	1 0	\$0.00	0.00	\$0.00	\$362.0
DEARBORN #815		2	EA	\$	39.81	\$79.62	2 0	\$0.00	0.00	\$0.00	\$79.6
HAW #5054LF BUBBLER		2	EA	\$	258.09	\$516.18	3 0	\$0.00	0.00	\$0.00	\$516.1
PLUMBERS PUTTY		1	EA	\$	11.59	\$11.59	0	\$0.00	0.00	\$0.00	\$11.5
8/8" OD SOFT COPPER		1	EA	\$	43.16	\$43.16	0	\$0.00	0.00	\$0.00	\$43.1
8/8" COMPRESSION BRASS TEE		2	EA	\$	5.10	\$10.20	0 0	\$0.00	0.00	\$0.00	\$10.2
3/8" COUP. X 1/2" MIP BRASS											
ADAPTORS		4	EA	\$	2.59	\$10.36	0	\$0.00	0.00	\$0.00	\$10.3
/2" TEFLON TAPE/ WHITE		2	EA	\$	0.77	\$1.54	0	\$0.00	0.00	\$0.00	\$1.5
SELF SEALANT PIPE DOPE		1	EA	\$	6.69	\$6.69	0	\$0.00	0.00	\$0.00	\$6.6
-1/2" FLANGE X 12" LONG											
AILPIECE/CHROME		2	EA	\$	11.28	\$22.56	0	\$0.00	0.00	\$0.00	\$22.5
PPRENTICE	4	1	DAY	\$		\$0.00) 4	\$274.84	0.00	\$0.00	\$274.8
FOREMAN	4	1	DAY	\$		\$0.00) 4	\$341.92	0.00	\$0.00	\$341.9
SUBTOTAL BEFORE TAX						\$369.32		\$616.76		\$0.00	\$986.0
SALES TAX @ 8%						\$29.55	5				
	- 74		100		-10-2	\$398.87	7 8	\$616.76		\$0.00	
SUBTOTAL BEFORE TAX SALES TAX @ 8% SUBTOTAL AFTER TAX FOTAL HOURS	8				I	\$29.55	5	, in the second		SUE	\$0.00 \$0.00 SUBTOTAL
DIVIDE BY THREE MAN CREW (24					0			ATERIAL 8		_	\$398
DIVIDE BY FIVE WORK DAYS TIME	ES SEV	EN C	AL. DA	YS						PMENT	\$0.
									SUE	BTOTAL	\$1,015.



Lundgren Management Central Valley Office 1712 19th Street, #210A Bakersfield, California 93301 Phone: (661) 324-4144

Project: 03-118394 - BCSD New ES Increment 2 & 3 (Dr. Martin Luther

King Jr. Elementary School) 1101 E. Belle Terrace

Bakersfield, California 93307

Phone: 6612571805

Subcontract Potential Change	Order #022:	Change Faucets	per RFI#209

CONTRACT COMPANY:	JPI Development Group, Inc. 41205 Golden Gate Circle Murrieta, California 92562	CONTRACT FOR:	BP#17 - BP#17 - Plumbing & Utilities
PCO NUMBER/REVISION:	022 / 1	CREATED BY:	Marlon Areas (Lundgren Management)
REQUEST RECEIVED FROM:	Janet Riedesel (JPI Development Group, Inc.)	CREATED DATE:	3/10/2020
STATUS:	Pending - In Review	SUBCONTRACT CHANGE ORDER:	None
REFERENCE:	RFI#209		
FIELD CHANGE:	No	ACCOUNTING METHOD:	Amount Based
LOCATION:	Increment 2 & 3	PAID IN FULL:	No
SCHEDULE IMPACT:	0 days	TOTAL AMOUNT:	\$1,949.21

POTENTIAL CHANGE ORDER TITLE: Change Faucets per RFI#209

CHANGE REASON: Client Request

POTENTIAL CHANGE ORDER DESCRIPTION: (The Contract Is Changed As Follows) Added cost to provide additional Lav-2 lavatories in lieu of Lav-1 lavatories at Building A restrooms.

ATTACHMENTS:

CO#22r1.pdf

Lundgren Management Central Valley Office 1712 19th Street, #210A

Bakersfield, California 93301

7-30.20 SIGNATURE

JPI Development Group, Inc. 41205 Golden Gate Circle

Murrieta, California 92562

SIGNATURE

Lundgren Management

page 1 of 1

Printed On: 3/10/2020 03:09 PM

PHONE (951) 973-7680 FAX (951) 973-7690

DATE:

12/23/2019 Revised 3/10/20

Arek Sliwa

Lundgren Management

VIA EMAIL

PAGES 2

RE:

New E.S. Increment 2 & 3 Dr. Martin Luther King Jr. Subject: Cost for RFI #0209 - Change LAV Faucets/ Finish Only

Dear Mr. Sliwa.

Our quoted price for the referenced change is as follows:

Per Added Cost		\$1,770.56
Overhead & Profit	9%	\$159.35
Sub Total		\$1,929.91
Bond	1.0%	\$19.30
TOTAL CHANGE TO CONTRA	CT	\$1,949,21

Schedule Activities Impacted:

Additional time required:

1

Day/Days

This change proposal is based on the ususal cost elements such as labor, material, and markup and does not include any amount for impact such as interfernece, rescheduling, change in the sequence of work, delays and/or associated acceleration. We expressly reserve the right to submit our request for any other items should we be faced with performing work under any of these conditions.

This cost proposal supersedes all previously submitted cost proposal relating to this same work. The work of other trades which may be required to complete this change order is not part of this change order proposal. This quote is valid for 30 calendar days from the above date and void there after. All work affected by either the acceptance or rejection of the enclosed change order quotation is on hold pending notification.

Sincerely,

Janet Riedesel JPI Development Group, Inc.



DEVELOPMENT GROUP, INC

CONTRACTORS LICENSE # 778930 PHONE (951) 973-7680 FAX (951) 973-7690

12/23/2019 Revised 3/10/20

BREAKDOWN

	QUAN	TITY	400		MAT	ERIAL	TOTAL	LABOR	EQUI	PMENT	
DESCRIPTION	HR'S	AMT	U/O/M		UNIT	COST	HOURS	COST	UNIT	COST	TOTAL
					CREI	DIT					
L-2 CHICAGO 3400ABCP		-3	EA	\$	177.45	-\$532.35	0	\$0.00	0.00	\$0.00	-\$532.35
					AD	D					
L-2 CHICAGO 3600-E2805AB		3	EA	\$	311.86	\$935.58	0	\$0.00	0.00	\$0.00	\$935.58
1/2" X 3" LONG BRASS NIPPLE		3	EA	\$	3.86	\$11.58	0	\$0.00	0.00	\$0.00	\$11.58
MCGUIRE #LF2165LK ANGLE											
STOP		3	EA	\$	24.74	\$74.22	0	\$0.00	0.00	\$0.00	\$74.22
1/2" WIDE TEFLON TAPE		2	EA	\$	0.77	\$1.54	0	\$0.00	0.00	\$0.00	\$1.54
PIPE SEALANT		1	EA	\$	6.69	\$6.69	0	\$0.00	0.00	\$0.00	\$6.69
APPRENTICE	8	1	DAY	\$	-	\$0.00	8	\$549.68	0.00	\$0.00	\$549.68
FOREMAN	8	1	DAY	\$	() - 5	\$0.00	8	\$683.84	0.00	\$0.00	\$683.84
SUBTOTAL BEFORE TAX						\$497.26		\$1,233.52		\$0.00	\$1,730.78
SALES TAX @ 8%						\$39.78					
SUBTOTAL AFTER TAX		됐네.	Diva:	7	- Carl	\$537.04	16	\$1,233.52		\$0.00	

TOTAL HOURS 16		SUBTOTAL \$1,233.52
DIVIDE BY THREE MAN CREW (24 HRS/DAY)	1	MATERIAL & TAXES @ 8% \$537.04
DIVIDE BY FIVE WORK DAYS TIMES SEVEN CAL. DAYS	1	EQUIPMENT \$0.00
		SUBTOTAL \$1,770.56